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Alexandriumspp.: 160
D. fortii: 0
D. acuminate: 0
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Alexandriumspp.: 20
D. fortii: 0
D. acuminata: 0
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Alexandriumspp.: 40
D. fortii: 0
D. acuminata: 0

Alexandriumspp.: 0
D. fortii: 0
D. acuminata: 0
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Alexandriumspp.: -
D. fortii: -

o D. acuminata: -
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Alexandriumspp.: -
D. fortii: -
D. acuminata: -
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RAEHh S IKE KR B Alexandrium Dinophysis
(°C) exanariim spp. D. fortii D. acuminata F DD Dinophysis
Om 6.04 33.25
F 160 0 0 0
el 5m 6.56 3350
Om 6.06 33.31
QAR 5m 6.25 33.46 20 0 0 0
10m 6.42 3358
_ Om 6.05 3343
= 40 0 0 0
O=v# 5m 6.15 33.54
Om 6.20 33.50
@EFiE 5m 6.28 33,55 0 0 0 0
10m 6.33 33.59
B 10m - - - - - - KA
®XiR 10m - - - - - - &3]
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Alexandrium spp. (cells/L)

HEH
Ol |(OBFR|Q- VIR |@EHEHG@EE |OKR
11829H 0 0 0 0 0 0
12A6H 10 0 0 0 0 0
12814H 0 0 10 0 - -
12H20H 0 0 20 0 0 0
12H27H 0 0 10 0 - -
1A6H 20 0 0 0 - -
1HA11H 60 0 0 0 - 0
1A178 60 0 0 0 - 0
1H24H 100 0 0 0 0 -
1A31H 160 10 20 0 - 0
2H7H 150 20 0 0 - 0
2H8H - - - - 0 -
2A14H - - - - 0 0
2815H 110 0 0 0 0 0
2H28H 160 30 20 0 - 0
3H8H 160 20 40 0 - -
sEEm D. fortii (cells/L)
OEET  |QBHFH|Q=VIR |@EHIF|OEE |OXKR
11829H 0 0 0 0 0 0
12A6H 0 0 0 0 0 0
128148 0 0 0 0 - -
12H20H8 0 0 0 0 0 0
12H27H 0 0 0 0 - -
1A6H 0 0 0 0 - -
1A11H 0 0 0 0 - 0
1A178 10 0 0 0 - 0
1H24H 10 0 0 0 0 -
1A31H 40 0 0 0 - 0
2H7H 30 0 0 0 - 0
2H8H - - - - 0 -
2814H - - - - 10 0
2815H 0 0 0 0 10 0
2H28H 0 0 0 0 - 0
3H8H 0 0 0 0 - -
sEEm D. acuminata (cells/L)
DR |(OBFR|QO=ViR |@EHEH GEE |[OKR
11H29H 40 0 0 0 0 0
12H6H 30 0 10 0 0 0
128148 0 0 0 0 -
12H20H 0 0 0 0 0 0
128278 0 0 0 0 - -
1A6H 0 0 0 0 - -
1A118 20 0 0 0 - 0
1A17H 30 10 0 0 - 0
1H24H 10 0 0 0 0 -
1A31H 20 0 0 0 - 0
2H7H 40 0 0 0 - 0
2H8H - - - - 0 -
2H148 - - - - 0 0
2A15H 50 0 0 0 0 0
2828H 40 0 0 0 - 0
3H8H 0 0 0 0 - -
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Alexandrium spp.
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D. acuminata
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OHAT & B D RIS B 1T 2 SR £(2020~2022 4F)
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